Stabilizing Wood
When a fresh log is cut, the wood is very wet.  For most purposes, it is difficult to use the wood until it dries out since during the drying process the wood shrinks.  The data below shows the weight in ounces of three different sizes of rough cut wooden bowls as a function of time.  (The wood is apricot.)
	Day
	0
	2
	6
	8
	11
	14
	19
	23
	27
	29
	34
	36
	38

	Ounces
	36.2
	34
	32.7
	32.4
	31.5
	30.9
	29.3
	28.4
	27.9
	27.7
	27.6
	27.4
	27.2

	Ounces
	15.2
	14.6
	14.1
	13.9
	13.6
	13.3
	12.7
	12.4
	12.2
	12.1
	12
	11.9
	11.8

	Ounces
	7.9
	7.4
	7.2
	7.1
	7
	6.8
	6.5
	6.3
	6.2
	6.2
	6.1
	6.1
	6


1) In order to get an estimate of how long it takes wood to dry, assume that the weight of the wood follows a quadratic function until it is dry and this is the vertex of the parabola. Do a quadratic regression to approximate the weight function for each bowl.  








2) Based on the model in part 1), what is the approximate drying time for a rough cut bowl?  







3) Does the drying time depend on the original weight of the bowl?





4) Describe the advantages and disadvantage of using a quadratic function to approximate the weight function.  Do you think there would be a better way to approximate the drying time?

